3

2 |VCE Physics, Units 1 and 2

5 |Year M1

@ 5 |2005 | 17
; 7 |2007 15
3 12008 13
9.;2009 18
Vlc;?zcw 15
11

=
12 jVCE Physics, Units 3 and 4

]
19 T nas

3
" VCE Physics, Units 1 and 2

5 Year M1 fl
6 2008 17 &
= 2007 =
8 2008 15 6
] 1= B
30 2011 13 £
11

-1‘2 VCE Physics, Units 3and 4

15 Yeer M3 F3
142005 15

45 2007 12

16 2008 11

12000 13

= | VCE Physics, Units 1 and 2

5 |Year ML F1
o l2%e 2 [
212007 s
is [}
% B
15 4

12 VCE Physies, Units 3and &

13 Year
T2 a00e
15| 007
| 2008
T3 2008

1
201

£

)

3 4

4 |VCE Physles, Units Lang 2

5 |¥ear M1 f
i P 17 E
52007 =-
& 2008 18 €
o 2008 15 3
1012010 13 z
1

13 VEE Physics. Units 3and 4

1= Year Y
34 2008 10
i35 | 2007 1

182008 1

171200 1

6
5
8
-
M2 F2
15 &
19 3
i35 H
kL g
Average:
M4 E4
10|
3
01
Mz F2
13 ]
12 5
13 5
15 B
Averaga:
s F4

Average:
M4 F4
16|
13|
11
10
13

Average:

M2 F2
15 ]
i8 5
15 5
i5 g8
Average:
Total Males Totsl Females
32 12
30 &
8 11
3 10
30 15
A ]
32 1
Total Males  Totel Females
0 2
F) 3
7] B
20 4
Tatal Males  Toral Females
32 12
30 6
38 11
32 10
30 16
a 2
2 11
Total Males  Total Females
19 B
u §
2 8
0 4
2% 6
a 5
3 &
Total Males Total Famaies
2 12
30 ]
k-3 iz
31 19
30 1§
- ]
2 11
Taotal Males  Totai Females
20 3
7 {2
2 8
) S
% &
] A
23 5

Total Males  Total Females

@ Range is 2006 to 2010.

{Rety | [comcel | [ b |
Was this information helpful?

7T e

L [ oy W ) R [

Enrolmemt o,

Woodlands College
Science Enrolment Trends - Physics Unit 1 & 2

Enmiment No

Woodlands College
Science Enrolment Trends - Physics Unit 1 & 2

Woodlands College
Science Enrolment Trends - Physlcs Unit 1 & 2

0 - — B

5 P

5

Microsoft Excel

%
é = @ Range is between 2 and 20.
E = 9 B es
P, :

b 4 v—

¢ E 0% 2050
— 5 B =
i I T : £




9 @ T,N @ :a8elany 5 6T
9 9z otoz| 8T
v 0z 600z| LT
8 44 gooz| 9T
9 LT L0oz| St
v @ 0z @ 900z| 7T
sojew?ad [e30L  |SdJE 2301 vd  (73) [t €4 EN Jeap| €T

flv\u:m € suun ‘saishyd A | CT

I1 @\.@ rd3 @ :a8esany 1T
ot o€ 8 ST 8 ST otoz| 0T
0T 113 S ST S 91 600z| ©
T 8¢ S 6T 9 61 gooz| 8
9 o€ ST ST @xooz| £
4 @ e @) 9 ) st 9 (€°) | 900z| 9
sdjewa] |e30L  |S9JeA |e10) | N T4 N Jeap| S
T pue T syun ‘saishyd pp| 7

€

0T0Z 01 9002 - Ss3uaw|o.iug aduaps| ¢

289||0) spuejpoop| T

B} 4 i [ a | o | e | v |

yveeposf Hvi)Sa) Mo



@ Jea)

( |

ST

ST

61

S0

ST

C N e

T ] o=

ST

at

6T

ST

LT

T N o

0to¢

600¢

800¢

£00¢

900¢

(
&

®N 3 T HuUnN SAsAyd - spuau] juawjoiuy 3duaids
&) 989]]0) Spue|poo

0T

‘O Juawjo.iug

(4"

vl

91

81

0¢

L3



®Enrolment No.

Woodlands College ()
Science Enrolment Trends - Physics Unit 3 & 4 @

16 } I3
14 T
12 - 10 "
: ®),
6 3 4 3 ;
4 2 2 —=—M3
——2——-._—__ﬁ IR |
5 5l -3
2006 2007 2008 2009 2010 M4
M3 10 14 11 10 13
e 4]
F3 2 3 4 2 3
M4 10 13 A i 10 13
F4 2 3 4 2 3




(selewa4elo] Jabeloay=(z91n)
9oL L9 "6l selewa4 [e10) abesany saisAyd
2'2e=5/191 o (ssfeleio L )Jobelany=(z1N)
[43 L9L=0E+|E+BE+0E+CE Z€ 0E 1€ BE 0E ¢€ '8l safely [ejo obelany soishud
. g+
2Tl |4=(p3¢n) SoleWa [ejoL saishyd
0oL -9l ZW+LIN=(78€N) Salel [ejoL salsyd
4} Z1=0+9 Zl 9’9 ‘Gl zd+14=(281n) sejewaS fejo) saisAyd
z 26=G1+L1 € T N /! 2N+ LN=(2310) Selen ejoL soisyd
(44 ‘€l
0z Ch
0L "L
¢ 0l
b6 02 => pue g=< v4's4 2414 saisfyd
A% :
pajoaley JLU WNWIXeW 8L} 8A0qE | paioalay 0e w
paydsooy abuel paydaooe sy UL pajdaooy .
pajdacoy abuel paydanoe sup uip pa)daooy 0z
psydeoay abuel paydasoe ayy Uy pajdacoy 0k
pajosfey L winwiUiL BU) Mojaq | pajosley 6 0€ => pue =< PN BN TN LI saisfyq
pajosloy LU JE9A 34} 3AOQE | pejosloy i
pejdesoy abuel 1ea A ay) LI pajdenoy 002
pajosley | | lea A WnwiuIw S mojsq | pejosley 0102=> Pue 900Z=< saisAyd

aWoaNo
aWoaANQ [enpay _ pojoadxgy ele(] 158 152 0} uofjoun4 / ejniiod | BleQ

Bunsa] ajdweg
abajjo) spuejpoopp



a3y a3y
ur pajybiyBbiy ur payyBiybiy
aq pjnoys ag p|noys 'G UBL) SS9 ale
G ue) ssa| sainby 'sainby asay} J08jep | G uey) ssa| saunbiy 74 €424 'L PN EN Jey) saunby Juswijoius
JuswijoIus ||y pinoys Bumeulio} leuoRIpUOY Jawiolus |y | W ‘LI sanblyjuswioiua |y 'ze Ile a3y wbiubiH Buiewlloy feuonipuo) saisfyd
1eya Jo Jybu uo papnjay| 1By Jo Jybu uo papnjou) ﬁm_nmu__n_am 5 papnjoul bcmmmn_ ‘LE
“ON juswioiu3 ‘0N Juawjoiuy pajege| SiXy-A .QM
feoA 2k pelede| SiXy-X "Gl
. PR EWN ' pRewn Bupesy-gns g
SJISA4-Spual] ‘joiug "o SAUSAY4-Spual] "joug 0! =
: ;mmmﬂou_wmcm_woam YN : EmmmﬂoowUrm_m_Sh mc_vmm: X4 8¢ wu_w>;n_ —Heyp mu_mh_._m
|qe) BIEP BU} Ul papn|au| B|qe} BYEP BY] UI PAPNJOU| Ao_nmo__n_o_m E papnjoul U:mmmn_ .mN
‘ON JuaLjoiug ‘0N JuaLuoiug PoIaqe] SIXy-A mN
B2 EoA pejaqe| siXy-X  "pe
’ Zgiun ; A AR} Buipesy-qng 't
SSAU--SpuUBl] "joIug o SIS, -Spusl] ‘joJuz o -
) :w_mmw_“_oo.wu_:m;wo?m) VN A :M_mcﬂouw_u__._m_%oopm Buipeay urepy e 7% | sa1sAyd - ey mu_mh_._n_
o (ssjewalejo| )abeiony=(19¢n)
9789y 1T salewa [ejo] abesany saisAyd
o (seleiEo L )beiany=(i8en)
92022 'z 0T sajej [eJ0L abesany saisAyd




